Arbeitspunkt 1 My =a-My +bemy,

Arbeitspunkt 2 My =a-Myy+bemy,

b= Mg * Mgy =My =My

Moy * M3 — Mgy = M3,

_ My Mgy =My My,

a=
Mgy = Migg — Moy = M3,y
l‘l/ll = 14 0-11 ::0.2
/4[121 ::4: 0-21 ::0-36
/ngl ::2 0-31 ::0.15
N:=100
erzeuge Messwerte (normalverteilt) mll:=rnorm (N, ,0q;

m21:=rnorm (N, iy, ,09;
m31:=rnorm (N, 3, ,03;

bilde Mittelwert my; :=mean (m1l) =14
My :=1nean (m21) =3.955
Mg :=mean (m31) =2.007

l.l/12 = 28 0-12 ::0.22
l.l/22::5 0-22::0.16
l.l/32 ::6 0-32 ::0.25
N:=100

erzeuge Messwerte (normalverteilt) ml2:=rnorm (N, ;5,0

m22:=rnorm (N, llgy , Ty
m32:=rnorm (N, flzy, 039

bilde Mittelwert m,,:=mean (m12) =28.008
Mgy =1Nean (m22) =4.986
Mg, :=mean (m32) =6.002
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Ergebnisse a:= =2.026
Mgy Ml3e — Mgy = M3,

—<m11 . m22> T Mmypemy

b= ! —2.984

Mgy = Migg — Moy = M3,y



